> 143

angs =

»>» 13-4

ans =

> 12*3

ans =

36

»>> 36/3



e RSY
ang =

1=5 logical HiE

> mI=Y
ansg =

1x5 logical HHE

Sm ®x==Y
ans =

1=5 logical HiE

e KISV
ansg =

1=5 logical HHE
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ans =

1x5 logical HHE



»» for x=0:2:10
a=2"x

end
E=
1
a =
4q
a =
16
a =
64
a =
256
a =
1024
>> a=3;
>» if a<l
b=a+l
else
c=a+2
end
C=



>> a=1;
>>» while a<4

a=a+l

end
a=

2
a=

3
a=

4

> Ff=inline {'®*3+6%Ex-2",
>> £ (3}

ansg =

2%

> f=inline{'x."34+6%x-2","'x");
>> £{[3 4 51)

ans =

43 g6 153

»> ¥x=linspace (0,5,6)
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»>a=1; 'b=2,c=3;

untitled.m {+\ U@HQ|;§|UE}]|[§D§
1 t=linspace(9,2%pi,100); x=2%*cos(t); y=2%sin(t);
2 plot (,y ) 2 y : . ,
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iy t=linspace{@,2%pi,100); x=2*cos{t); y=2*sin{t);

2 plot{x,y); axis square;
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>» a=l; b=2,c=3;
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| untiledm = | + | | I
1 t=linspace{B,2*pi,188); x=2%cos(t); y=2%sin(t);
2 plot(x,y); axis =gusl T T T T T
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>> a=1l; b=2,c=3;
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1 t=linspace(@,2*pi,180); x=2*cos(t); y=2*sin(t);
2 plot{x,y); axis image
1.5
1
0.5
.5 1 1.5 2

>> a=1; b=2,c=3;

»> ones({3)

ans =

1 1 1
1 1 1
1 1 1

»> ZEeros{2)

ans =

> C=[1 2 31:1length(C)

ansg =



>>» b=[1 2 3:4 5 &6;7 B 9]
> sum(i)

ans =

12 15 18

>> abs (-3}

ansg =

T TEPR TR . " .
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1 Random_matrix=rand(2,3h

o X}
[==3r-]

>>» untitled
Randnm_matrix =

0.3479 0.1078 0.5765
0.2343 0.100% 0.4141



1 rand( 'seed’,3)
2 rand{2,3)

HEs %
===

>>» untitled
'rmad' 2 () UMY 4 Qe B4 £E H2UUCH

2R M. ontitled (19 212h
rnad ( '=seed’ , 3)

>>» untitled

ans =
0.5387 0.0512 0.3010
0.3815 0.2851 0.1277

© | untiledm | + |
1 fp= fopen('test.m’;'w"});
2 fprintf{fp; "%d ¥d\n',1,2};
3 fprintf{fp; "&f.%f\n",3.5,4.5);
4 ferintf{fp, '%e.%=\n",100,1500);
5 fclose(fp);
6 a:load(:test.m');l

mE EF
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>> untitled
»> untitled
>> untitlied
»> untitled
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a=load('tesct.m'};

Jx >>

fprint @ FurAlaLgl &LIT}



